



































































































































Lecture 7

Warmup fed
5

o

t
Consider the function whose graph is given above What is

a its domain 7 3 U E 2,6
b its range f 4 2 U f 1,4 u 5
c values of w Loc Max

d i Loc Min

2 Graph the following function
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section 2.4

rate of change
Rmk Average speed dist travels time travelled

f is a fan w f t dist car travels then

awe rate of chary

a.IE HIEI
Defn the ave rate of charge of a fou f from a to

be is f bl f a net change f frm a tob

b a b a



EXE 4 x XZ from 0 to 2

b 2 a O

f 2 f o 22 O 2
2 O 2

far l from 1 to 3
2 1

f 3 fC t of I
3 C i 4

To Fo
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To Fo
440
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secant
line
of F from

a to
b

Picture8

f b
t

fad flat
flat

b a

1 I
a b

Slope of the second line is the awe rate of charge
of f from a to b



Ex 8
f x X

elope Iz 2

Section 2.6

RmK8 Vertical Shifting
c 30

Graph of the equ y TCH t e thenthe graph
is the graph of y FCA shifted up down by a
f x 2

f x X I
f x X I

I



Rink Horizontal shifting
The graph of y f Cx Ic is the graph of
f x shifted hor to the left right by a

f x XZ

f x l x D2
4 Xt 1 Xt 1

2

µofg

Ex ECI x 35 4 g
shiftup

bY 4

gCx x shift right by 3
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Ex f x TE l g CH Tx

gc t left 42
shift downby

1

T_

Ex f x have the followinggraph
what is thegraph of IH c 4

f x

th
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Rink Reflecting graphs

y f x graph of FCA reflected across the x an

y f x 3 y axis
f x X

g t f x 2 f x l E

hix f x C x 2 I
og g
i r

Wiii
i

g to
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y

em

f x Tx

gas _Fx f x

e



Exe f x x 1
2

2

h X x

gu ht x
so f x g x i 2

We obtain thegraph of g from the graph of h by
reflecting across the y axis so it doesn'tchange

we obtain the graph of f from thegraph of g by
shifting to the right by 1 and down by 2

I h X
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lg't
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Ex E f x I x 2
2

g
x 2

VV

Ex Additional example b c of my mess up
f x 1

We would like to obtain the graph of f t from the

graph of

h x TX

Notice that

f x h C Xt 2 I

hC x 2 I



Let g
x hC x then

f x g x 2 1

So we get the graph of F from thegraph of gwhich we get from thegraph of h
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